Solving Logarithmic and Exponential Equations Worksheet
First, solve each of the following Equations Graphically using DESMOS.  Take the image of the solution and paste it in the document in the empty box on the right-hand side.  Then, solve the equation algebraically on the left -hand side to verify the solution.  The graphing and pasting must be done first as that will finish formatting the document so you have enough room to show your work.
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—4 is an extraneous solution.
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3 is the solution to the equation
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